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Find the value of ¢ that makes
xa? — 1.8x + ¢ a perfect square

trimomial.

Solve Z2x + 3 = x<.

o {x|x<_: —1 gix = 3}
{x]x = —1 orx = 3}

Of{x] — 3=x=1}

{x|x = —3 slx = 1}
fx|]x < —3orx =1}

Of{x] —1 < x < 3}
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AlalS e 2 — 1.8x + ©

2x+ 3 = xT A

Which system of inegualities is

graphed?
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cundlfa mind dalme o gSd
Write an equation for the parabola A dly AR g3 e ACall aladl Alokaa TSN
whose vertex is at (—5,7) and A—3,—1) AbEL ey (—5, 7)) akal
passes through the point (—3, —1).

O y=—2x+5)2+7 .
1

Oy=—z&+52+7 -b
1

O y=—o e —5F 47 -E

O y=2(x+5P2—7

H "2 . fAix)=x*—10 B fx)=x"+10
flx) = —x*+ 10 . fix)=—x*—10

: (4421)=(3-51). b
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